D (=7)+(=3)

@ (-11) + (+1)

® (-7)+ (-3) =-10

@ (-17) + (-7) = -24
® (-11) + (+1) = -10
@ (+2) + (-12) = -10
® (+1) + (-11) = -10




2. Ao fEee Ao A At S2 A27

9+(42)+ (-3




48 = +48

29+ (—4) +7=12°Jth
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ol
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1_.___0
Lol

~

12

(i)9+a+(-3)
a+9+(-3)
a+6=12

12

(i) 7+b+ (-3)
b+7+(-3)
b+4=12

b

12

12

8

wW2bA ax b = 6x 8 = 48 °]t}.
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o 5 At A3 2] g2 AL20

0 (B[22 (D)%
® (—%) + (—Z) = —% @(—2.3) + (+1.1) = +1.2
® (=0.9) + (+1.6) = +0.7

3 2 3 2
@ (+3)+(+3) = (+3+3
_ 944
6
1 5 3
@ (+7)+(-5) = (+535)+
(22
12 10
7
-1
2 3 2 3
®(-2)+(-3)=-(+3)
__ 8+ _
20

@ (-2.3) + (+1.1) = -1.2

(32)

23
20




